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X 1R 2,000 = 88 61 21
A % 1,000 ke 155 108 41
3 7N ~ kg
= ) 2,000| ke 108
F v RV 3,000| ke 85 61 11
S + 401 kg 216
KoL YD 900 = 86 54
=& ] 100 = 98
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HhyT Iz — kg
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A = 1) 3
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3] DI kg
h F 300| ke 259 43
~ K ~ 600| kg 432 216
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e — z 10| kg 1080
ze = 201 kg 816
H = 200| ke 411 211 61
5 &% ¥ kg
H % 220 ke 216 172 27
4 = kg
ES & kg
i:3 =4 52| kg 972 702 432
Jnowal) — kg
= v 250] kg 432 216
=i * * 150 ke 252

R 93| kg 588 432
Y Y b 50 %& 4100 3240 2592
N + -+ 2,703| kg 340 249
FH A A kg
=l & kg
0 5 b 2,000| pc 302 270 162




